SHSEE FEMN FEEKBRERAE 1/2
No. Al RITEE= LER] EARMEEE FiE4 ERRfZ ERT IEE | B HEekE stEens anehs BE K e BRRr | mEA % (e
HEEN B EF| 8K - @K B EMIZER 7.20~ 1.40 0.20 1.30 67.86 69.36 69.81 E-E Ak
2Ea&all il HiE | #K- &K B |[&mAR 0.80 ~ 1.00 0.20/ 0.90 66.18 67.68 — IR |[EkRH
3 EEI E Il a5 #K - RK B EmIIAE 1.20~ 1.40 0.200 1.30 67.86 69.36/ 69.80 R kREH
EEEA 33 0 &Pfr 0.00 km
RE 0 &@r 0.00 km
- BT km
EEEB ki 1 &Ffr 0.20 km
hE 2 & 0.40 km
— AT km
NEZEN I EF | JKE - iE B |EMIER 1.60~ 1.80 0.20] 1.70 70.00] 71.50] 71.85 TR [EREm
AN =3Pl ER | OKE - %R B EMIIER 3.20~ 3.40 0.20/ 3.30 78.34 79.84| 80.58 EA e K
6 FEaI #&hnl ERE | K - kiR A EmMIER 3.40~ 3.60 0.20/ 3.50 79.51 81.01| 81.98 EAE Ak
12 =Sl ER | K - kiR B EMIER 540~ 5.48 0.08 5.44 90.00 91.50/ 91.90 EAE K
8| &= I =3l ER | OKE - %R A EmMIER 5.60 ~ 5.80 0.200 5.70 91.05 92.55/ 92.83 EA e
9 EEN =3Pl ER | OKE - %R A EmMIER 6.00 ~ 7.40 1.40 6.70 96.32 97.82 98.42 EA e
10 21 =Sl a5 KE - %R B EMIARE 3.60~ 3.80 0.20/ 3.70 80.48 81.98| 82.40 EA ek
MEaN Enpll| BiF | KE - kR B |Z2X#E 4.40 ~ 4.60 0.20| 4.50 84.65 86.15 89.23 IR |[EkRH
12 2] =3Pl a8 KE - kiR A EmMIERE 5.00 ~ 5.40 0.40) 5.20 89.02 90.52| 90.80 EA e K
1352 #&hnl aF KE - %R B &EMIARE 5.60 ~ 5.80 0.20/ 5.70 91.05 92.55| 93.14 R EkREH
14 52 =Sl a5 KE - %R B EMIARE 6.00 ~ 6.20 0.20/ 6.10 93.13 94.63| 95.38 EAE K
15 21 E Il a5 KE - kiR A EmMIESE 6.60 ~ 7.40 0.80 7.00 98.26 99.76|100.39 R kREH
EEEA 33 3 &R 1.80 km
RE 2 &Fr 1.20 km
- BT km
EEEB ki 3 &PRr 0.48 km
hE 4 &rr 0.80 km
— AT km
[HEIS FE A - % B &k 1o [ 1 | 1.08 6724 68 74 _68.82 E A= E A= XBRIEG B B
EEEA 33 0 &
hE 0 &Fkr
- 0 &k
EEEB ki 0 &=
hE 0 &Fkr
— 1 &
IEIE E=SI] Z&| [\ EF = 0.20 ~ 0.60 0.40] 0.40 - = — TR [EREm
18 EE2) =3Pl EE BN FEEMINER 0.80~ 1.08 0.28 0.94 66.18 67.68| 68.13 EA e K
19 2] #&hnl EE BIIES FEEMIER 1.20~ 2.45 1.25 1.83| 70.93 72.43| 72.84 EAE K
20 &) il kR BBk FE ENNER 2.60 ~ 2.80 0.20 2.70 75.15| 76.65 77.14 IR [EkRH
21 %2 =3l EE BJIES EEENIER 3.00~ 3.60 0.60 3.30 78.34 79.84| 80.58 EA e
22/ BE) =3Pl & BN EEENIER 3.80~ 4.40 0.60 4.10 82.57 84.07| 84.53 EA e K
23&Ea&ll il kR 18I Bk FE ENNER 4.60 ~ 4.80 0.20| 4.70/ 85.77 87.27 87.43 IR |[EkRH
24/ BRI =3l EE BJIES EEENIER 5.20 ~ 5.40 0.20/ 5.30 89.02 90.52| 90.66 EA e
25/ BRI =3Pl EE BIIES EEENIER 7.00 ~ 7.20 0.200 7.10 98.26 99.76|100.18 EA e K
26 % 21| #&hnl EE | B EEENAR 220~ 2.45 0.25 2.33 73.19 74.69 75.11 EAE Ak
27/ %2 =Sl EE | B XEENNAR 2.60~ 4.40 1.80 3.50 79.51 81.01 81.51 EAE K
28 &2 &I BE 1=K EEEXE 4.40 ~ 4.60 0.20 4.50 84.65 86.15 89.23 IR |[EkRH
29 2 &I AEF 1B 11 & B KEE 4.80 ~ 5.00 0.20 4.90 86.78 88.28 88.75 IR |[EkRH
30 E2 ) #&hnl BE | BIIE EEENNAR 5.20 ~ 5.40 0.20/ 5.30 89.02 90.52| 90.80 EA ek
3UES) #Ehnl EE | BIIE EE EMAE 5.80 ~ 7.40 1.60 6.60 96.32 97.82 98.22 R kREH
EIERME R 9 &Fr 3.93 km
hE 6 &Ffr 4.25 km
— AT km
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No. )| IEEEEE [EF BAXKME EEE FiE4 BEREIZE @A R (B [stEmke smens meens BAEKE SRR THHA iB5=
KAEI B T EMNER 7.00~ 1.08 0.08 1.04 66.83 68.33 70.63 E-E Ak
3 E&N )il kx| EREXM gL RF 1.20~ 1.40 0.20 1.30| 67.86] 69.36 69.81 R ARW RER (1.20) 288
R0 )il kx| ExRRXM g LR 4.00 ~ 4.40 0.40 4.20 83.68 85.18 85.67 R dR™ IRER (4.20) 288
35 B &)l HF ERXME EmER 0.80 ~ 1.08 0.28/ 0.94 66.18 67.68 — E[AZ e A7 BRER (.00 280
EAXM iR 3 & 0.68 km
A 1 &Fr 0.28 km
— BT km




